


‘X 1is the mother of Y’ is
represented by ‘X <Y’

‘X is the husband of Y’ is
represented by ‘X > Y’

‘X is the sister of Y is
represented by ‘X @ Y’

‘X is the son of Y’ is represented
by ‘X $ Y’

Which of the following indicates
the relationship ‘R is the
daughter of Q’?

‘X, Y B HIGOT 8 B X < Y BRI
<9I AT 8

‘X, Y BT Ofd 8 Bl ‘X > Y’ ST ST
T B

‘X, Y B §89 8 B ‘X @ Y’ ERI
<9I T AT ©



X, Y BT Y3 & B ‘X $ Y §RT SURT
T R

f=foriRad § 9 @9 989 ‘R, Q I
gl & @ g 87

>0 (a]R@.mQ
\/fErR@H$K>Q

(c)Q>K@R$H
e @Q<K@HS$R
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Amit’s birthday on 16 April
2021 was on a Saturday. On

which day was his wife’s birthday
on 37 June 20217

16 3T 2021 B JHT HT THiCA
YiaR BT oT| 3 T 2021 I SDH!
Ul &7 WHfe fbg e or?

(a) Tuesday
) Friday

(c) Monday
(d) Sunday



O

Read the given statements and
conclusion carefully. Assuming
that the information given in the
statements is true, even if it

appears to be at variance with
commonly known facts, decide

which of the given conclusions
logically follow(s) from  the

statements.

Statements:

All stools are round.

Some mountains are round.

Some ponds are mountains.
All ponds are square.

Conclusions:

M. Some ponds are round.

\-T1. Some mountains are square.



N II. Some ponds are Dboth
mountains and round.

>0 IV. Some stools are square.

fay T peET R frepst @1 e |
ufeq | I8 AFQ gT 6 @l #§ §f g
SR 9 8, Wel & 9 Sd a2 |
AT W B 8, vl difvie fF
P19 AT TPy FUAT BT difed wI 9

3TRYT el & |
B
4 W M &.

B TEIe Ml &
HY e BT 2 |
|l T TBR B |
frre:



1. B ATAE A & |
II. §B TETS TNPKN &.
III. 9 Tl UBT$ 3R el S © |

IV. B A TNPR 3

(a) Both conclusions I and II

follow
frspy 1 3R 11 T FTERYT HRa
g
7 Only conclusions II follow
Had Ty 11 HR0T BT 2 |
(d) Both conclusions III and IV  (c) Both conclusions I and III
follow follow

1 ey 1 3R IV SRR aFl ey 18R 1 SR FRd
XA B | g |



(a) FFEPU
(c) FFAYT

MFFU

Select the option that is related
to the fifth letter-cluster in the
same way as the second letter-

cluster is related to the first
letter-cluster and the fourth

letter cluster is related to the

ter cluster. /—\
B i‘GMS JCLH: DIKLM :

wﬁmﬁrmﬁ S giEd
IER—E | TUl YHR HeRrd B O
TN IER—EYE, USA IER—EYE ¥
e & 3R Tl ER—uHE, NN
JER—E o Hafera B |

BRELF: CFGMS: MJCLH: DIKLM ::

(d) EFFBT EODET: ?



If
'P+Q' means 'P is the father of Q'

'P-Q' means 'P is the mother of Q'.
'P/Q' means 'P is the sister of Q',
'P U Q' means P is the son of Q'.

'P N Q' means 'P is the daughter of
Q’,

then which of the following means
that 'A is E's daughter's son'?

P+Q' &7 31f & 'P, Q’ &7 far 7,
/N 'P-Q B 3§ P, Q @I AT
a)ANBNC/D+E 'P/Q &1 3 8 'P, Q' ¥ §&4 &,
b)A/BucCuD/E PUQ @132 f& P, Q &1 7A 2
TR 'PnQ‘W&ﬁ?‘P,Q’ﬁﬁﬁ‘c"f%’,
ar fr=foRag & 9 faer aef a8 2
(AMAUB/C/DUE 5 o E & g &7 g7 27



a certain code language
‘TONGUE’ is written as ‘EQUGNT’,

W and ‘JEALOUS’ 1is written as

‘AEOUJLS’. How will ‘STOMACH’
,--0 N q Ue €0 be written in that language?

s fAf¥ad @ W § ‘TONGUE’ &i

‘M“m7 ‘EOUGNT’ forar wmar 8 3R

v owd ‘JEALOUS’ &I ‘AEOUJLS’ forarm

=19) AT 81 99 9NT ¥ ‘STOMACH’ 39
EL for@r Sgn?

(a) ACMOHST (b) MOSTACH

(c) ACOHMST (AT AOCHMST

Aoc @



*

If the letter in each of the
——————"
following strings are omitted and

e
then the remaining numbers are
arranged in_igcreasing sequence,

which number will come in the

’E—M.‘I_E-L_'_
M

33A, 44R, 41V, 54D, 21S, C56,
D46, V68, F36, G32, 61C, 47G,
N55

gfe fA=fofRed ae dfs & 9 Te
3ER Bl BT fadr WY 3R fhvR 9y

] 3233 36‘1”@4‘{@@@@@“1&;@@%@

S, o dF # $F W S mefi?

33A, 44R, 41V, 54D, 21S, C56,
D46, V68, F36, G32, 61C, 47G,
N55

(a) 41 \_,M4

(c) 54 L) 46



(REE)

Six boxes, labelled A, B, C, D, E
and F, are arranged vertically

from top to bottom. The top
position is considered as the 1st

position, whereas the bottom
position is the last position. Box

F is placed immediately above box
E. There are three boxes between

A and B. Box A is above box B.
There is one box between E and D.

There are three boxes between E
and C. Box E is placed at the

second-last position.

Which of the following boxes is
placed immediately above box D?



A, B, C, D, E 3R F ode 9I1 B8
T SR ¥ R 9P d9ad gaferd

g Y W9 & YW WIE {1 ST
2, Siefe W &1 W oy I g ar

2| 99 F & a9 E & Jd HW
@ AT 2] A 3R B @ 919 A9 S
g1 dfF9 A I B ® S 2| E 3R
D& 49 & digd 2| E3R C & §9
& dfed & | dfe E @ eifam ¥ R
WIH YR T AT B |

frfoRag # ¥ @19 91 §fe9 D &
3P HUR @1 AT 87

(a) C (b) B
(c) F \Ugra
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ﬂ.ng
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r o £

L g oo g w
xa|® o ow| @fE =
B F b w h b 2

Select the figure among the given

option that can replace the
question mark (?) in the following

series.

feg ¢ fawcal § | SH FPpfa &
Tg_ Hiford ot =1 sf@ar d e R
(?) &1 ufaenfia s 9&dr 2 |




Select the option in which the
numbers shares the same
relationship in set as that shared
by the numbers in the given set.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.

E.g. 13- Operations on 13 such as

adding/subtracting/multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing
mathematical operations on 1 and
3 is not allowed)

(56, 121, 242)
(78, 165, 726)



99 fdpa &1 g9 & forad S
Ve A 98 Hey A= Hdr & o Ry

Y We ¥ GERi gRT A1 fhar sar

2
= M < AR B SHP °USH D
5‘6%5 R—‘nz\ =NLHA dg famr, gof de&Rl w® o

tCol =726 W 13- 13 ® wae I 13 ¥
SISl /UCHT /o - 3 faar
ST 9&ar 81 13 &I 1 3R 3 # dre

b Ak 3R fby 1 3k 3 W 7o wfehany
)\i:;'rmse’ 99, iws | ke bl
oy - (56, 121, 242)
(c) (44, 88, 166)
(78, 165, 726)

(d) (62, 98, 187)



(o)
o

17X 3

%

The second number in the given
number pairs is obtained by
performing certain mathematical

operation(s) on the first number.
The same operation(s) are
followed in all the number pairs,
except one. Find that odd number

pair.

faw v HEr g § gud e ugd
&1 R §B TRy |@ishag fAefia
D AT B S 8| B B BIgaw,
¥ "§& 3@ # 9 Ehhan
JUTg STt B 98 faww W@ g

ST BT |
(a) (8, 320) (b) (11, 968)

\_+cT15, 100)  (d) (6, 108)



v The sequence of folding a piece of
. paper and the manner in which
 the folded paper has been cut is
i shown below. Choose the figure
that would most closely resemble
the unfolded form of the paper.




Select the figure that will replace
the question mark (?) in the
following figure series.




|

()’( (d)

Select the figure from the option
that can replace the question
mark (?) and complete the given
pattern.

IY P et fAdeq &1 799 B ol
yeq e (?) 97 ufarenfia &~ 9&ar 8
3R oy 7 Y o R FR FHaT 2|

> O 5

A )(\ A O




In a certain code language,
'PUBLIC' is written as 'TIEIUY' and
'SERVER' is written as "WEUSEN'.
How will 'DIRECT' be written in
that language?

s fARed @ 9T %, ‘PUBLIC’ &I
‘TIEIUY’ 3R ‘SERVER’ &I
‘WEUSEN’ for@r Sirar 81 S9 wer &
‘DIRECT’ 39 ferar sen?

(a) HQUBIP
qﬁvﬂ

".

v U



Which of the answer figures is the
exact mirror image of the given
problem figure when the mirror is
held at the right side?

Problem figure:

9 TYUT B 18 3R @1 Sfar & ol
®IF bl SR AP & Ty GHT P
fa & 9&® gdur sfy B 87

- ®

| o Dl | N
e Sl N




FaT

Select the figure from the option
that can replace the question
mark (?) and complete the given
pattern.

fPpey # 9§ 99 FMPHfa &1 T B S
yed fore (?) & ufoenfia R 99 iR
fag 17 Yo o U HR G |




Te0OD
QL AGB
3509A

DLBA
6 SO0
T9A43

L DAB
6 SO
3 A9T

B6 DT
OAAOD
L 89S 3

Select the figure that will replace
the question mark (?) in the
following figure series.

wa@ﬁrwwaﬁa‘rﬁﬁlﬁ‘fm




Select the set in which the
numbers are related in the same

way as are the numbers of the
following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13-Operations on 13
such as adding
/Subtracting/multiplying etc. to
13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)

(15, 21, 10)
(25, 36, 17)



x5 »3

R ¥
$ \2

I U & 999 BN for9H G ST
yHR Gt § oy fAefalaa de &t
& B |

(Fre: wfpard qof HemRl R @ S
ey, SRl & SH® uUcH Pl A
are fa=r| SaEvw & fow 13—13 W)
Sfehary oY fab 13 H
ST /ESHT /o & anfe fdar
ST 9&Har 21 13 &1 1 3R 3 § dren
R v 1 3R 3 W™ TN it
& B AR T B)

<15, 21, 10)

25, 36, 17)
(a) (100, 45, 87)

(c) (123, 23, 56) @

(d) (50, 45, 31)

yﬁoo, 33, 31)



Select the set in which the
numbers are related in the same
way as are the numbers of the
following set.

(NOTE: Operations should be
performed on the whole numbers,

without ©breaking down the
numbers into its constituent
digits. E.g. 13-Operations on 13
such as adding /[subtracting
/multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and
3 is NOT allowed)

(47, 108, 169)

(22, 83, 144)



T+

(a) (11, 73, 133)

99 U & TI9T B forgd &= ST
PR Gefeld & oig [felRad d¢ ®I

G 3 |

18T, ARl &I SHd Uch 3idl A
are fa=m| SeeRo & fow 13—13 wR
gfebad w0 13 ¥
ST /9SHT /O &1 anfe faar
T |l &1 13 B 1 3R 3 # dre
IR R 1 3R 3 W TR Afhand
&Y DY IAFANT T8I B)

WA (51, 113, 173) (47, 108, 169)
(c) (33, 121, 181) (22, 83, 144)

(d) (8, 64, 130)



Select the figure that will replace

the question mark (?) in the
_? following figure series.
S AP BT T B ol f=iferiRad
IPHfa sf@ar # e e (?) &1 ®-H
SRIN
C D
(c)
O D A €
A O
C O
(b) o B (d) c A
D D




A + B' means 'A is the sister of B'.

'A - B' means 'A is the wife of B'.
'A X B' means 'A is the brother of

~
m"’ -N ¢_>o"[' B'.
'A + B' means 'A is the father of B'.
IfL+M+N-0+P x Q, then
/‘\_\ which of the following statements
f- Q is NOT correct?
A +B & 3ef 8 ‘A, B’ P 989 & |
‘A - B' & Hacld & ‘A, B’ & Ul &7 |
' ' é ’
< (3 O is the father of Q ': f :' : ;’Tj § ‘i: :, : g-rzll
\Msthedaughterofﬂ AXL+ M+ N-0+P x Q

PRPEIFE — Frefoea & § a4 & o adt T
(d) M is the sister of the wife of O 2?7



Study the given pattern carefully
and select the number that can
replace the question mark (?) in
it.

(16, 4, 4)

(30, 5, 15)

(8, 2, ?)

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13 Operations on 13
suchas adding/subtracting/
multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and
3 is not allowed)



‘j‘x?—i‘t =16

sx3ti$=3p

2K 31

W =

'Y

fey v Yo @1 eaFydS SradT
3R S €T & IgT Y ol oA

yee e (?) &1 ufoenfia &R 99 |

(16, 4, 4)
(30, 5, 15)

(8, 2, ?)

ey, HEIRll & SHd Hed 3Ad W
are fasr| SaERe & fow 13 W 13
dfbad o & 13 |
SIS/ EeSHT /O &)1 anfe fasar
ST 9%al 8] 13 & 1 3R 3 H dre
3R by 1 3R 3 W R wfhand
B Pl AR TE B)

a2 (b) 8

(c) 6 (d) 4



-----

OE O W W g W

e e S

-----

(b)

A paper is folded and cut as
shown below. How will it appear
when unfolded?




Select the set in which the

numbers are related in the same
way as are the numbers of the
following set.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into their constituent
digits. E.g. 13 - Operations on 13
such as adding /Subtracting
/multiplying etc. to 13 can be

performed. Breaking down 13 into
1 and 3 and then performing

mathematical operations on 1 and
3 is not allowed.)

(9,69, 17)

(13,47,7)



S AT BT II9 B orad G& Sl
THR Haftlg & o fferRad | &)
H&N 3 |
13T, &R B SD USSP AP F
are faar| SeERw & foaw 13 — 13 W
gfbgd S & 13 A
ST / |l /7O &A1 Q. B S
Hhal 81 13 DI 1 3R 3 § O 3R
G (3 PR o R s o

\X} &1 JHfa =181 2 )

(9,69, 17)
|X3 ‘3 (13,47,7) @
2L ’_(_3 X(a] (13,57,19) (b) (10,36,8)
)((c) (22,49,9) |(#(19,50,4)



S O w

— oo

Which figure should replace the
question mark(?) if the series
were to be continued?

afe sf@er W @ 8 dr U
RrEP) & WM W P9 91 dd AT




U ¢ O

Select the figure that will replace
the question mark (?) in the
following figure series.

S AP T T97 H o =ferfaa
B @ H ueH ' (?) &1 wWH

B 5
% ool “o B %
S o
[
Wl 5 «




Select the set in which the
numbers are related in the same

way as are the numbers of the
following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13- Operations on 13
such as adding
/Subtracting/multiplying etc. to
13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical

operations on 1 and 3 is not
allowed)

(7, 5, 16)
(12, 10, 36)



22 (= 4-8 =k
R=

0= Yy-3 =36

I 9T B 999 HY forgd G ST
PR Hetd § oY fA=foRag e &
&N B |

ey, SRl B SUD Hch Iihl A
dre fa=r| SaER @ g 13— 13 W
dfpad S 8 13 H
ST /¥eHT /o &n snfe faar
ST 9hal 21 13 B 1 3R 3 # drer
3R R 1 3R 3 R TR wfdhany
1$?#1$Taﬁfﬂa”q€'%:ﬁ{.

7.5, 16) (10, 9, 144)

(12, 10, 36) (9, 8, 12)
29 (8,7,59)
IIH8, 7,7)



In a certain code language,
‘SURMOUNT’ is coded as
: 13946352’ How will

‘ ’@ be coded in that
ge'-"

fAfad @ w1 4

‘SURMOUNT’ ®I ‘13946352’ forar
oTdT &) S9! 99T § ‘WORKOUTS’
P DY for@r SgI?

(a) 56926320 (b) 6713743%(

) 5692632 (d 6713743g.<

©



. Select the option that is related
to the third term in the same way
as the second term is related to
the first term and the sixth term

“n‘s related (t?‘the‘%'th teﬁm. 19
9% : 171 :3 121 :7 :1: 165 285

SY APy &7 T PN ol IR Ug
H S¥ IRE Haftrd B o avg T
Ug UBd U ¥ 3R B3T g UEd Ug
¥ Geferd 2|

99 : 171 ::121:? ::165: 285
(a) 192 (b) 210
(c) 241 wrzog



Select the set in which the
numbers are related in the same
way as are the numbers in the
following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g.13 - Operations on 13
such as
adding/deleting/multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)



SH 9Ywd B 999 diforg o
mﬁwmﬁmﬁﬁ%m
gﬁﬁwﬁﬁﬁﬂgﬁlﬁfaﬁmﬁ
|
fenfora fedg fa=m, qof =i &
w9 ¥ S ¥ amr =Ry
IR0 P o0 F&ar 13 §&T 13
W Gfeharg o fb
ST/ IS/ IO ST 3fe 13 &
fore @ &1 |&Hdr 81 H&AT 13 Bl 1
IR 3 # fowiig " S99 W
TR b F1 31 T8I
gl) 3) (16, 76, 52)
(32, 152, 104) (¥ (44, 88, 55)

(28, 133,91) ¥ (52, 117, 65)
($(60, 105, 70)



If WE = 118, PAD = 67, then how
will you code BACK?

gfe WE = 118, PAD = 67, A BACK

3T T BITT?
69 (b) 266
(c) 66 (d) 159

@ﬂcKZE>

Qx| ¥3R) | = €6 4R)






